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(1) Zdfri(v) WMTEOEEICELD v = 10 %
(2) Bl A58 (m)
_ 1 _
al= 2.0 = 1.25
100
m = a1 X SL = 1.25 X 27 = 33.8 N/mf
Xo>T m = 33.8 N/mf

(3)/kEA L FEE(W/C) m = -16.6 + 26.7 X C/W
W/C = 26.7 + (33.8 + 16.6) X 100 = 52.5 % = [55% (_E[R{#E) ]

S W/C = 52.5 9%
(4) HpKE (W) WTIEOFEEICELY W = 172 kg/m
(5)HpNrE A FE(C) C =W + (W/C) X 100 = 172 = 52.5 X 100 = 328 kg/m
Cv= C + 2 = 328 +~ 3.02 = 109 L/m
(6) 2558 (A) A = 4.5 % X 1000 = 45 L/nd

(7)BNCHEME(G) HBILLOERKICELY MNEEFE = 0.601 m/m EFER = 59.0 %
Gv = 0.601 X 1000 X 59.0 = 100 = 355 L/m%
Glv = Gv X 50.0 % = 178 L/m Gl= GIvXFEWEE = 178 X 2.70 = 481 kg/m
G2v = Gv X 50.0 % = 177 L/m G2= GYXFEWEE = 177 X 2.70 = 478 kg/m
(8) L HHEH# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 681 = 319 L/m
Slv = Sv X 60.0 % = 191 L/m S1= SIvXFEHEE = 191 X 2.64 = 504 kg/ni
S2v. = Sv X 40.0 % = 128 L/m S2= Szvx%&ﬁmﬁr“ = 128 X 2.67 = 342  kg/m

(9)EME(s/a) s/a = Sv - (Gv+Sv) X 100 = 47.3 %
(10) B yEFn A& (Ad) Ad = C X INZE = 328 X 0.8500 % = 2.79 kg/m
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